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Question Number : 1 Question Id : 953357493415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): It is important to focus on the development of children from infancy to adolescence.

Reason (R): Even though the first few years of life are significant for development, from the point of view of brain plasticity, the whole of
childhood and adolescence is a sensitive period.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 953357493415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357493416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about socialization is correct?

Options :

1. Families and schools are major contributors to socialization but there are other agencies such as media and peers who have an important
role.

2. Schools are the primary agency of socialization of children.

3. Media is not a very significant agency of socialization of children.

4. Religious institutions do not play any role in socialization of children.

Question Number : 2 Question Id : 953357493416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357493417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a progressive classroom, stress needs to be placed on creating an atmosphere where

Options :

1. emotional needs of students are taken care of and they feel valued.

2. stress is placed on ‘performance goals’ and achievement in tests directs teacher's perception of students.

3. the teacher leads and children follow passively.

4. students are expected to 'learn for exams'.



Question Number : 3 Question Id : 953357493417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357493418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child is shown a 3D model of three mountains. Another person is looking at the model from a different position. The child is asked to
depict the other person's view of the model but is unable to do so correctly. According to Jean Piaget, this is illustrative of

Options :

1. egocentricism

2. animism

3. object performance

4. Hypothetical thinking

Question Number : 4 Question Id : 953357493418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357493419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget proposed that children's thinking is that of adults.

Options :

1. not different from

2. qualitatively different from

3. quantitatively different from

4. quite similar to



Question Number : 5 Question Id : 953357493419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357493420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky referred to the difference between what a child can do on his own and what can be accomplished with some assistance as:
Options :

1. intelligence

2. zone of proximal development

3. scaffolding

4. adaptation

Question Number : 6 Question Id : 953357493420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STToTeRT T4 o F4T AT © A F9T F0 FETaT 510 U AT o ol SARTesh 5 $79% 1=l 3 37 i ot
w0y o et forar 22

Options :

Question Number : 7 Question Id : 953357493421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pedagogical strategy of 'Reciprocal teaching' is based on

Options :

1. Behaviouristic principles

2. Socio-cultural approach

3. Information processing theories of learning

4. Howard Gardner's construct of multiple intelligences.

Question Number : 7 Question Id : 953357493421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357493422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Responding to Heinz Dilemma Roohi says, 'stealing the drug is wrong under any circumstance because it is wrong to steal. According to
Lawrence Kohlberg's Theory of Moral Development, Roohi is at

Options :

1. Pre conventional level; Punishment Obedience Orientation
2. Pre conventional level; Personal-reward Orientation

3. Conventional level; Law and Order Orientation

4. Post conventional level; Social-contract Orientation

Question Number : 8 Question Id : 953357493422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357493423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does 'interpersonal intelligence' in Howard Gardner's theory of Multiple Intelligences mean?

Options :

1. Ability to discriminate complex inner feelings and to use them to guide one's own behaviour.

2. Ability to detect and respond appropriately to the moods, temperaments, motivations and intentions of others.

3. Ability to use the body skillfully for expressive as well as goal-directed purposes.

4. Ability to perceive the visual-spatial world accurately.

Question Number : 9 Question Id : 953357493423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357493424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
National Education Policy 2020 proposes inclusion of and for assessment of children.

Options :

1. group work; self-assessment

2. projects; standard tests

3. standard tests; portfolios

4. norm-referenced; criterion-referenced tests

Question Number : 10 Question Id : 953357493424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357493425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For the purpose of comprehensive assessment, a teacher should:

Options :

1. consider scores based on correct answers on a quiz.

2. consider only the errors made by children.

3. consider outcome as well as process of learning for students.

4. use standardised tests for all students.

Question Number : 11 Question Id : 953357493425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357493426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In many cases, young girls rather than boys are expected to perform household chores and sibling care in the absence of their mothers.
This is an example of

Options :

1. gender stereotype
2. gender equity

3. gender equality
4. gender relevance

Question Number : 12 Question Id : 953357493426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357493427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of progressive education?

Options :

1. Focus on continuous and comprehensive evaluation

2. Encouraging rote memorisation

3. Emphasis on collaborative learning

4. Promoting lifelong learning

Question Number : 13 Question Id : 953357493427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357493428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about language and thought is correct from a Vygotskian perspective?

Options :

1. Language facilitates development of higher mental functions.

2. Language hinders development of cognitive faculties.

3. Language does not play any role in cognitive development.

4. Thought occurs independent of language development.

Question Number : 14 Question Id : 953357493428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357493429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher encourages children to talk to their elders and members of community to learn about their heritage.

Choose the set of options that indicate teacher's belief about socialisation and learning.

i) Recognising the importance of knowledge that children gain through community.

i) Understanding that learning takes place in a social context and it is important to connect with it.
iii) Importance of linking school knowledge with local knowledge.

iv) Giving more importance to school knowledge.
Options :

1. (i) only

2. (ii) and (iii) only

3. (1), (ii) and (iii)

4. (1), (ii) (iii) and (iv)

Question Number : 15 Question Id : 953357493429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357493430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mathematical disorder in context of 'Learning disability' is referred to as

Options :

1. Dyspraxia

2. Dyslexia

3. Dyscalculia

4. Dysgraphia

Question Number : 16 Question Id : 953357493430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357493431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Salma, a 5-year-old girl, started playing the musical instrument Guitar without any outside instruction when she was 3 years old. This
talent would characterizes her as a

Options :

1. slow learner

2. child with low IQ
3. gifted

4. Autistic



Question Number : 17 Question Id : 953357493431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357493432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hardik has low vision. The teacher has not been informed of his condition. Which of the following actions in class can indicate the teacher
that he has low vision?

Options :

1. Squinting of eyes while reading

2. Standing far away from the blackboard to read it clearly
3. completing worksheets with fine print quickly

4. reading physical maps which have minute details

Question Number : 18 Question Id : 953357493432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357493433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher can create a conducive classroom environment for learners with disability by:

Options :

1. creating strong expectations that they follow rigid curriculum.

2. taking all decisions for them independently without consulting the child.

3. ensuring that they are assessed through standardized assessment parameters.

4. making reasonable and appropriate curricular accommodations.



Question Number : 19 Question Id : 953357493433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357493434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Statement (A): Inclusive education does not include children with 'giftedness'.

Statement (R): Inclusive education functions on ‘deficit’ perspective only.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 20 Question Id : 953357493434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357493435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a metacognitive skill?

Options :



1. Rote memorization of content without engagement

2. Imitating the behaviour of others

3. Thinking about one's own thinking processes

4. Describing the procedure of preparing a particular dish

Question Number : 21 Question Id : 953357493435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357493436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher encourages his/her students to make concept maps after teaching a topic. This would be helpful in

(1). conducting formative assessment.
(i1). testing the capability of students to summarize the main points.
(iii). developing rubrics to evaluate the level of the students.

(iv). testing the artistic ability of students.
Options :

1. (i), (ii) and (iii)

2. (i) and (iv)

3. (ii), (iii) and (iv)

4. (ii) and (iv)

Question Number : 22 Question Id : 953357493436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3 (i1), (iii) and (iv)

4 (ii) and (iv)

Question Number : 23 Question Id : 953357493437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Primary school children learn most effectively in an atmosphere where

Options :

1. the teacher is authoritarian and always dictates what should be done.

2. the teacher leads all the learning and students are expected to be passive.

3. where the main stress is on mastery of reading skills and achievement of ‘marks’.

4. Where the socio-emotional needs for the children are taken care of.

Question Number : 23 Question Id : 953357493437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357493438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is an example of effective classroom practice.
Options :
1. Use of rewards and punishment
2. ‘Competitive’ classroom
3. Comparative evaluation
4. Collaborative learning

Question Number : 24 Question Id : 953357493438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357493439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?

Options :

1. A student is doing an experiment to get good grades

2. A student is doing experiment because he is curious about the result of experiment

3. A student is doing experiment because he does not like theory class

4. A student is doing experiment because he wants to impress his teacher.

Question Number : 25 Question Id : 953357493439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357493440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following scenario exemplifies constructivist pedagogy?

Options :

1. Students listen to the teachers and take notes on the content covered.

2. Students repeat aloud long passages to memorize them.

3. Students learn the material in their text books and take tests covering the content at the end of the year.

4. A teacher presents his students with a contemporary issue, on which they discuss and debate.

Question Number : 26 Question Id : 953357493440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357493441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following attitude is best suited to positive group dynamics within the class room?
Options :

1. Laying down strict external rules prohibiting group interaction.

2. Dividing the class into permanent 'ability based' sub groups for easy functioning.

3. Encouraging all students in class to dialogue and collaborate for problem solving.

4. Encouraging competition between groups to enhance performance.

Question Number : 27 Question Id : 953357493441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357493442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A metaphor of 'Jug and the mug' is often used to depict how traditional education views teacher as a big jug pouring knowledge into the
mind of a student depicted by a smaller mug. This kind of understanding is problematic because:

Options :

1. Students carry valuable experiences with them and learning is constructed with their active participation with teacher & peers.
2. Students are naive and they can't learn anything without the teacher.

3. There is no need of any content or teacher in the process of learning.

4. Learning happens best if children listen to the teacher passively.

Question Number : 28 Question Id : 953357493442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357493443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Errors in children's work:

Options :

1. confirms their intellectual inferiority over others.

2. definitely confirms the lack of preparedness on part of teacher.

3. should be ignored by the teacher to avoid disappointment among children.

4. should be thoroughly analyzed by the teacher and discussed with children.

Question Number : 29 Question Id : 953357493443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357493444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can enhance critical thinking in middle school students?

Options :

1. Asking students to read the textbook on their own and avoid discussion with peers.

2. Asking students to discuss topics in groups and come up with questions.

3. Presentation by the teacher using lecture method.

4. Giving students homework to write the answers to recall the questions given at the end of the textbook.

Question Number : 30 Question Id : 953357493444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357493445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Kandariya Mahadev temple was constructed by the king of which dynasty?

Options :

1.

Cholas

2.
Chandelas

3.

Rajputs

4.
Chalukyas

Question Number : 31 Question Id : 953357493445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 953357493446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are planning a project on 'the earliest agricultural areas in Central India'. Which of the following you would be asking students to find
out about?

Options :

1. Jaintia Hills
2. Vindhya Hills
3. Aravalli Hills
4. Kirthar Hills

Question Number : 32 Question Id : 953357493446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 953357493447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Mughal emphasised their Timurid descent over their Mongol descent because :

Options :

1. they wanted patrilineal affiliation to be given preference.

2. Timurids had defeated the Mongols.

3. Mongols were linked to Uzbegs, one of their competitors.

4. Timurids patronised poets and painters.

Question Number : 33 Question Id : 953357493447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gﬂ?«'wmﬂﬁ i FeEAT % T W - I SEEnT W SATaT S/ 6e 3 o S -
Options :
F oAUt ﬁqd&ﬂq HEeTadT T SEaT 24T = 9

1

, AT o S oy &
3. TTIET SSTeRTT & Haifer 4|

, B s e i e e

Question Number : 34 Question Id : 953357493448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reason for the Mughals to recruit mansabdars from diverse backgrounds was to

Options :

1. ease the language barrier between the mansabs and the subjects.

2. encompass services of nobles from different regions as the empire expanded.

3. gather support and loyalty of people from diverse regions.

4. promote the idea of inclusion and universal brotherhood.

Question Number : 34 Question Id : 953357493448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357493449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is odd pair ?

System of Philosophy - Founder
Options :

L.

Vaishesika - Konad

2.

Nyay - Gautama

3.

Yoga - Patanjali

4.

Vadanta - Jaimini

Question Number : 35 Question Id : 953357493449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 953357493450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the Statements (A) and (B) about Mathura and choose the correct answer.

(A) Mathura was important for travel and trade connecting north to east and south to west.

(B) Mathura was centre for producing fine sculpture.
Options :

1. Both (A) and (B) are false.

2. (A) is true, (B) is false.

3. (A) is false, (B) is true.

4. Both (A) and (B) are true.



Question Number : 36 Question Id : 953357493450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 953357493451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Mahalwari Settlement, the charge of collecting the revenue was given to

Options :

1. Village headman

2. Zamindar

3. Talugdar

4. Ryots

Question Number : 37 Question Id : 953357493451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 953357493452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about colonialism in India and choose the correct option.

(A) The British extended their control over all the forests.
(B) In these forests people were allowed to practice jhum cultivation, collect fruits and hunt animals.

(C) Forest department faced problem in getting labour when they stopped tribal people from living inside forests.
Options :

1. Both (A) and (B) are true.

2. Both (B) and (C) are true.



3. Both (A) and (C) are true.
4. All (A) (B) and (C) are true.

Question Number : 38 Question Id : 953357493452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 953357493453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Match the reformers to their reform movement:

a. Periyar i) Brahmo Samaj
b. Ghasidas ii) Young Bengal
c. Keshab Chandra Sen iii) Self-Respect Movement

d. Henry Derozio iv) Satnami Movement
Options :

1. a- iv, b-iii, c-1, d-ii

2. a- iii, b-iv, c-1, d-ii

3. a- iii, b-1v, c-ii, d-i

4. a- v, b-iii, c-ii, d-i

Question Number : 39 Question Id : 953357493453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 953357493454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the social reform organisation that focussed mainly on the abolition of caste during colonial rule.

Options :

1. 1. Asiatic Society

2. 2. Bharat Dharma Mahamandal

3. 3. Sanatan Dharma Sabha

4. 4. Singh Sabha

Question Number : 40 Question Id : 953357493454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 953357493455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Christian missionaries through their schools managed to

Options :

1. introduce tribal groups and all castes to ideas of equality and justice.

2. organise mass movements against castist practices.

3. provide work opportunities to people who were regarded as untouchables.

4. equip children with some resources to make their way into a changing world.

Question Number : 41 Question Id : 953357493455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 953357493456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the All India Muslim League and choose the correct option.

(A) The League desired separate electorates for Muslims.
(B) The League supported the partition of Bengal.

(C) The formation of the League was the main cause of split in Congress in 1907.
Options :

1. Only (A) is true

2. Only (B) is true

3. Only (A) and (B) are true

4. Only (B) and (C) are true

Question Number : 42 Question Id : 953357493456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 953357493457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider these statements about the moderate national leaders resisting colonialism and choose the correct option.

(A) The moderate leaders criticised British rule in their speeches and sent representatives to different part of the country to mobilise public
opinion.

(B) The moderate leaders felt that the British had respect for the ideals of freedom and justice, and so they would accept the just demand of
Indians.

Options :

1. Both (A) and (B) are true and (B) is the correct explanation of (A).
2. Both (A) and (B) are true but (B) is not a correct explanation of (A).
3. (A) is true but (B) is false.

4. (A) is false but (B) is true.

Question Number : 43 Question Id : 953357493457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 953357493458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Constitution of India came into effect on 26 January in the year

Options :

1. 1949

2.1950

3.1951

4.1952

Question Number : 44 Question Id : 953357493458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 953357493459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of old fold mountains?

Options :

1. Vosges

2. Himalayas

3. Ural

4. Mt. Kilimanjaro

Question Number : 45 Question Id : 953357493459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357493460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the statements regarding latitude are correct?

(A) The latitude is an imaginary circular line with varied radius.

(B) The latitude is very important to identify the local time.

(C) Latitudes are measured in degrees.

(D) The distance from the equator to either of the poles is one fourth of the circle around the earth.

Select the correct answer using the code given below
Options :

1. (A), (B) and (C)

2.(B), (C) and (D)

3. (A), (C) and (D)

4.(A), (B) and (D)

Question Number : 46 Question Id : 953357493460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 953357493461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Tropic of Cancer passes through which of the following regions?

Options :

1. Aravalis

2. Vindhya Range

3. Western Ghat

4. Deccan Plateau

Question Number : 47 Question Id : 953357493461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 953357493462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

India is located east of Greenwich at 82°30' E. What will be the time in India when it is 4:00 pm in London?

Options :

1.09:30 AM

2.9:30 PM

3.10:30AM

4.10:30 PM

Question Number : 48 Question Id : 953357493462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357493463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about vegetation and choose the correct option.
(A) The growth of vegetation depends on temperature and moisture.



(B) Climate of the place hardly affects the natural vegetation.

(C) Factors like slope and thickness of soil do contribute to the type of vegetation at a given place.
Options :

1. Both (A) and (B) are correct

2. Both (B)and (C) are correct

3. Both (A) and (C) are correct

4. All (A), (B) and (C) are correct

Question Number : 49 Question Id : 953357493463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357493464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is known as 'Orchards of the world' for the fruit cultivation?

Options :

1. Tropical grasslands

2. Coniferous forests

3. Mediterranean region

4. Temperate evergreen forests

Question Number : 50 Question Id : 953357493464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357493465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Consider statements (A) and (B) and choose the correct option.

(A) The coastline of Indian ocean is identical and irregular.

(B) The indented and irregular coastline provides ideal location for natural harbours and ports.
Options :

1. (A) is true and (B) is false

2. (A) is false and (B) is true

3. Both (A) and (B) are false

4. Both (A) and (B) are true

Question Number : 51 Question Id : 953357493465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357493466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Identify the layer of atmosphere from the given features (A) and (B).

(A) It contains a layer of Ozone gas.

(B) It is free from clouds and associated weather phenomenon.
Options :

1. Troposphere

2. Stratosphere

3. Mesosphere

4. Thermosphere

Question Number : 52 Question Id : 953357493466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357493467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements (A) and (B) and choose the correct option.

(A) Air pressure varies according to the temperature at the same sea level.

(B) Areas with high temperature creates a low pressure area.
Options :

1. Both A and B are true and B is the correct explanation of A

2. Both A and B are true but B is not the correct explanation of A
3. A is true but B is false

4. A is false but B is true

Question Number : 53 Question Id : 953357493467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 953357493468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why are houses built on stilts?

Options :

1. They look good and cheap to construct.

2. They are suitable for hilly areas

3. They prevent water from entering houses during the rainy season

4. They are cooler and keep out the heat.

Question Number : 54 Question Id : 953357493468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fzeT T g 9T S99 I 2
Options :

|, I T | o= 7T # o7 FF FE H 59 91 7




, I e &l o fom sug )
. T g F = S T H S

4. AT T AT T § SR ER A

Question Number : 55 Question Id : 953357493469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Due to better health facilities child morality rates are decreasing and survival rates are increasing at younger age. In such a case,
population pyramid will be;

(A) Wider at the base
(B) Broader in the younger age groups
(C) Triangular shaped

Choose the correct option

Options :

1. Only (A) and (B) are correct

2. Only (B) and (C) are correct

3. Only (A) and (C) are correct

4. All (A), (B) and (C) are correcct

Question Number : 55 Question Id : 953357493469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357493470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The teacher was dealing with the theme "population’ in her class. She asked students to calculate increase in population using births, deaths,
in migration and out migration in a particular region between two points of time. She is giving a task on which of the following concepts?

Options :
1. Density of the population.



2. Distribution of the population.
3. Natural growth of population.
4. Rate of Migration in population.

Question Number : 56 Question Id : 953357493470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 953357493471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements (A), (B), (C) and (D) on subsistence agriculture and choose the correct option.

(A) It is prevalent in thickly populated areas.
(B) The area under cultivation and amount of capital used are large.
(C) Multiple crops are grown annually.

(D) It is prevalent in areas with heavy rainfall.
Options :

1. Only (A) and (B) are correct

2. Only (C) and (D) are correct

3. Only (A) and (C) are correct

4. Only (B) and (D) are correct

Question Number : 57 Question Id : 953357493471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357493472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the twelve apostle of Jesus Christ is credited with bringing Christianity to India?

Options :

1. St. Thomas

2. St. Peter

3. St. Paul

4. St. Francis

Question Number : 58 Question Id : 953357493472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 953357493473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements (A) and (B) and choose the correct option,

(A) People in Kerala practises different religions such as Judaism, Islam, Christianity, Hinduism and Buddhism.

(B) Kerala has been an attracting destination for international travellers and traders since antiquity.
Options :

1. (A) and (B) are true and (B) explains (A)

2. (A) and (B) are true and (B) does not explains (A)

3. (A) is true (B) is false

4. (A) is false (B) is true

Question Number : 59 Question Id : 953357493473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 953357493474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher askes her students to explain the "putting-out system". Which of the following explanations is correct ?

Options :

1. Roshan supplies water to coco-cola plant in return for cash payments.

2. Sujata buys raw mango, pickles them and sell it online.

3. Reza supplies Tendu Patta to villagers and receives bidi as product.

4. Oliver grows turmeric and sells it to nearby cottage industry workshop.

Question Number : 60 Question Id : 953357493474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 953357493475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which government is considered as a representative one?

Options :

1. Autocratic

2. Monarchy

3. Democratic

4. Laissez faire

Question Number : 61 Question Id : 953357493475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 953357493476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the statements (A) and (B) and choose the appropriate option

(A) In India 80 percent of farmers have barely enough land income to meet their daily needs.

(B) In India nearly two out of every five rural families are agricultural labourer. They depend on other people's fields to earn a living.
Many of them are landless and own very small plots of land.

Select the correct option from the given alternatives.

Options :

1. Ais true and B is false

2. A is false and B is true

3. Both A and B are true and B is the correct explanation of A
4. Both A and B are false

Question Number : 62 Question Id : 953357493476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 953357493477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nirmal goes to auction at 3:00 am from where he buys vegetables in bulk. He further sells it to neighbourhood vegetable sellers. What kind
of trader is he?

Options :
1. Retailer
2. Wholesaler
3. Hawker
4. Vendor

Question Number : 63 Question Id : 953357493477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357493478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
When the Constitution outlines the division of legislative powers between the centre and the states.

What is the system of governance called?
Options :

1. Parliamentary

2. Federal

3. Presidential

4. Democratic

Question Number : 64 Question Id : 953357493478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357493479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why was 19t century social reformer and women's rights activist Ramabai given the title 'Pandita'?

Options :

1. She married into a Brahman family

2. She become a priest and set up a temple in Pune

3. She was a woman educationist who imparted education to men

4. She could read and write Sanskrit.

Question Number : 65 Question Id : 953357493479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357493480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wishes to discuss that the Indian Constitution recognises every person as equal. Which of the following examples will most
likely find a place in the discussion

Options :

1. People standing in a line to cast their vote in an assembly election.
2. A stadium full of people cheering the national cricket team.

3. People standing in a line outside the government hospital .

4. People standing in a line to buy movie tickets.

Question Number : 66 Question Id : 953357493480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357493481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

No citizen shall, on grounds only of religion, race, caste, sex, place of birth or any of them, be subject to any disability, liability, restriction
or condition with regard to access to shops, public restaurants, hotels and places of public entertainment.

Which Article of the Indian Constitution does the above statement highlighted?
Options :

1. Article 21A

2. Article 15

3. Article 343

4. Article 23

Question Number : 67 Question Id : 953357493481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357493482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and identify an instance that relates to criminal law.

Options :

1. A couple wants to apply for mutual divorce.

2. A sister askes for her share in her parents' property.

3. Fagu's ancestral house is sold by his brother without his consent.

4. A girl is harassed regularly by a group of boys on her way from home to bus stop.

Question Number : 68 Question Id : 953357493482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357493483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who chaired the committee that examined the socio-economic and educational status of Muslims in India?

Options :

1. B.P Mandal

2. R. Sachar

3. P.K Thungon

4. D.S Kothari

Question Number : 69 Question Id : 953357493483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357493484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Civil Rights movement started in USA to demand:

Options :

1. Social security for senior African-American citizens

2. Voting rights of African-American citizens with disabilities.

3. Voting rights for African-American women

4. Equal rights of African-American citizens and end of racial discrimination.

Question Number : 70 Question Id : 953357493484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357493485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The scope of Geography includes the following :

(A) Relation between political system and economy
(B) Art of drawing maps and charts

(C) Relations between man and physical environments
(D) Evolution of mankind and its different races

Choose the correct options:
Options :

1. (A), (B), and (C)

2.(A) and (C)

3. (A), (B), and (D)

4. (B), (C) and (D)

Question Number : 71 Question Id : 953357493485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357493486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most important challenge before a social science teachersisto

Options :

1. maintain discipline in the classroom

2. use interdisciplinary approach

3. help students do their homework

4. prepare students for exams

Question Number : 72 Question Id : 953357493486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357493487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

More effective learning opportunities in social science education can be provided by:

Options :

1. Giving detailed explanation of all topics.

2. Using more teaching aids.

3. Conducting periodical tests.

4. Basing the teaching on real life situations.



Question Number : 73 Question Id : 953357493487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357493488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher starts her class by discussing a story of a village, where all the adults have gathered to choose their leader. This story could be
developed to initiate a discussion on which of the following topics?

Options :

1. Gram Sabha

2. Rural livelihood

3. Rural administration
4. Gandhi swaraj

Question Number : 74 Question Id : 953357493488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357493489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The following are the steps for explaining that people are product of hereditary and environment. Put these in order of discussion.

(A) Members of groups learn social behaviour from each other.
(B) People in different environment often have similar behaviour pattern.
(C) Community characteristics result from interaction between individuals and groups in an environment.

(D) Social systems are affected by values of interacting groups.



Choose the correct options:
Options :

1. (A), (B), (C) and (D)
2.(A), (C), (B) and (D)

3. (B), (A), (D) and (C)

4. (B), (C), (D) and (A)

Question Number : 75 Question Id : 953357493489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357493490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In a social science textbook, we sometimes come across terms and issues that may lead ot some discomfort:

What is expected from the teacher in such a situation?

Options :

1. Teacher must not bring such terms and issues in the classroom discussions.

2. Teacher should avoid teaching topics that require naming of specific communities

3. Teacher should transact the material with sensitivity and firm commitment to respecting dignity of all students
4. Teacher should just focus on giving concrete difinitions of such terms, issues and proceed further.

Question Number : 76 Question Id : 953357493490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357493491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the given scenarios carefully. Which among the following provides an opportunity to a teacher to plan a visit to Delhi monuments
with her students?

(A) Her students askes her what is superstructure, while discussing architecture of Sultanate Era.
(B) They were fascinated by the Structure of the "Bangla dome"

(C) Her students wanted to paint the pillars of Pietra dura for their upcoming art exhibition.
Options :

1. (A), (B) and (C)

2. (A) and (B)

3.(A) and (C)

4. (B) and (C)

Question Number : 77 Question Id : 953357493491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357493492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The best approach to introduce 'social’ inequality' to students at upper primary level is through -

(A) Data
(B) Photo essay
(C) Lecture

(D) Case studies



Choose the most appropriate teacher activities.
Options :

1. (A) and (B) only

2.(A), (B) and (C) only

3.(A), (B) and (D) only

4. (B), (C) and (D) only

Question Number : 78 Question Id : 953357493492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357493493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
As a social science teacher how would you guide your students about identifying bias within texts.

(A) You would encourage them to only use official documents
(B) You will encourge students to find evidence regarding what they read

(C) You would ask them to look at only those sources which are published by well known people.
Choose the correct option

Options :

1. (A) and (B)
2. Only (D)
3.(B)and (C)
4. Only (A)

Question Number : 79 Question Id : 953357493493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357493494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following questions provide greater scope for developing critical thinking?

(A) What are some similarities and differences between the way the Mughals came to power in India and the way English came to power
in India?

(B) In 1857 why did a section of the soldiers feel their religious faith was being violated?
(C) Why do you think some people wanted to preserve the caste system in society?
(D) What did the British do to protect the interests of those who converted to Christianity?

(E) What problems did the shifting cultivators face during British rule?
Choose the correct option.

Options :

1. (A), (B) and (C)
2.(B), (C) and (D)
3.(C), (D) and ( E)
4.(A), (B) and (D)

Question Number : 80 Question Id : 953357493494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357493495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identity an activity which uses inquiry based learning approach.

Options :

1. Watching a power point/ slide presentation

2. Visiting a community for data collection

3. Listening to a lecture

4. Writing an easy on the topic

Question Number : 81 Question Id : 953357493495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357493496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As a social science teacher which of the following values must be developed among students so that they sustain the energy for critical
thinking

(A) Mutual respect

(B) Discipline

(C) Obedience

(D) Respect for diversity
(E)Trust

Choose the correct option.
Options :

1. (A), (B) and (C)

2.(B), (C) and (D)

3.(A), (C)and (E)
4.(A), (D) and (E)

Question Number : 82 Question Id : 953357493496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357493497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gendering the curriculum can be best understood by

(A) increasing the number of references to individual woman
(B) highlighting the perspectives of women in discussion of themes
(C) using gender inclusive language during class discussions

Choose the correct option.
Options :

1. (A) and (B)

2. (A) and (C)

3.(B) and (C)

4.(A), (B) and (C)

Question Number : 83 Question Id : 953357493497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357493498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a primary source to understand Ancient Indian period?

Options :

1. Surat Hundi

2. Samundragupta's Prashsasti

3. Kandariya Mahadeva Temple

4. Nagabhata's Prashsasti

Question Number : 84 Question Id : 953357493498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357493499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When teacher is providing students items like research articles, books, photographs, audio and video recordings, materials and websites
etc; for a upper primary school, the objective would be towards

Options :

1. facilitating the school projects scientifically.

2. providing background information as a key component of enquiry process.
3. participate on National level seminars, workshops, and conferences.

4. teaching review of literature.

Question Number : 85 Question Id : 953357493499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357493500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following assessment practices provides each student with details of descriptive feedback to further the student's learning?
Options :

1. Assessment for learning

2. Assessment as learning

3. Assessment of learning

4. Summative assessment

Question Number : 86 Question Id : 953357493500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬁmﬁ%ﬁﬁ%ﬁqﬁmuﬁmﬁ%aﬁnﬂﬁmﬁaﬁﬁ%%@mmﬁmﬁgﬁm
AT 27

Options :

| At % o st
, AT T AE AR
3 SATENTH = AT

Question Number : 87 Question Id : 953357493501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following questions assesses conceptual knowledge?

(A) Suggest three ways to conserve water.

(B) What kinds of cloth had a large market in Europe?

(C) Discuss the impact of the shortage of judges on the delivery of justice to the litigants.
(D) Write in your own words what you understand by the term 'rule of law'.

(E) How is economic marginalization different from social marginalization?

Choose the correct option.
Options :

1. (A) and (B)

2.(B)and (C)

3.(C) and (D)

4. (D) and (E)

Question Number : 87 Question Id : 953357493501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357493502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the primary objective of open book examination in social sciences?

Options :

1. To assess skills of cooperation and collaboration

2. To assess content knowledge

3. To assess social and conditional skills

4. To assess skills of reflection and critical thinking

Question Number : 88 Question Id : 953357493502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357493503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following questions. Which of them assesses the 'understand' aspect of the cognitive process?

(A) You are a peasant in Alauddin Khalji's reign and you cannot pay the taxes demanded by the Sultan. What will you do?
(B) Why are some rocks mushroom shaped?

(C) Suppose the time in Kolkata is 7.00 pm. What will be the time in London which is located nearby Greenwich in the United Kingdom?



(D) Who were the parties involved in the tripartite struggle?

(E) Explain the factors causing poverty.
Options :

1. (A) and (C)

2.(C)and (E)

3.(B)and (E)

4.(D)and (E)

Question Number : 89 Question Id : 953357493503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TreATertias weit 1 Ufen| 379 & FF ¥ FAIHEF TR 3 T Uae] P AT i 57
A. Y AT RIS F TMEAHA H [FEH/FEF & AT AT GAa W TR 70, F1 1 T T2 7 T |
T T T
B. F1 F TP I AT F &1 87
C. T ST T 9T 3 7:00 &1 1 T0F 2| Ta7 S 15727 (TTa Foborem) = Hiwtarsr o oo oo & 3t ==
T B
D. #i=-aiT a1 ue, Braefig w98 7wt o
E. T 3007 5% 9T TR/ 21 31 SAET i)
21 Taeeq =1 =97 it -
Options :

| AdRC

, CHRE
; B#RE

4 DRE

Question Number : 90 Question Id : 953357493504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following questions. Which of them assesses the 'evaluate' aspect of cognitive process?

(A) In what way did the British history paintings in India reflect the attitudes of imperial conquerors?

(B) The Mahatma Gandhi National Rural Employment Guarantee Act 2005 improved the standard of living in India. Do you agree with
this statement? Justify.

(C) If you wish to choose a place to setup chocolate factory, which Indian State you will choose? Why?
(D) Explain the functions of NITI Aayog.
(E) Distinguish between primary and tertiary sector.

Choose the correct option.
Options :

1. (A), (B) and (C)
2.(B)and (C)

3.(C), (D) and (E)
4.(D)and (E)



Question Number : 90 Question Id : 953357493504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id : 95335715375
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335728119
Question Shuffling Allowed : Yes

Question Id : 953357493505 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Read the passage given below and answer the questions/ complete the
statements that follow with the help of given options.

Our giant water tower was home to some big and menacing honey free colonies.
We made all efforts to get rid of them for the safety of the human residents of
the colony.

Honey collectors were invited but were only able to destroy a few hives.
Actually they never wished to get rid of all the honey trees honey was their
livelihood. Whenever we saw the honey collectors in their loin- dhoti, jute
ropes, leaf baskets and flaming torches, the children would run home for fear of
the bees and hail the honey collectors for their bravery from our balconies. For
me as a kid bees did not belong to the urban environment.

Decades later, a thousand kilometres from the water tank, I accompanied honey
collectors deep into the forest to study their harvesting technique. They carned
battery lights, ropes and bee suits. Climbing up the trees, protected by the bee
suit, the collectors set to the task — they extracted the honev chamber leaving the
hive infact. A few days before the extraction, they had inspected the hives to
select those that looked full or healthy — ensunng that honey extraction does not
damage the hives. This sustinable harvest ensured that the bees were not
destroved and the collectors retained their livelihood. For the biologist the bees
belonged to the wilderness.

In between the water tower and the forest lie our gardens and fruit orchards.
Here both humans and bees meet more infimately. Here our relationship with
bees is give and ke. They pollinate our flowers and help our fruit trees to get
laden wath fruit.

Sub questions

Question Number : 91 Question Id : 953357493506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The writer of this article is a

1. Biologist

2. Photographer
3. Honey collector
4. Bee keeper
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357493507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The topic discussed herein is :
1. Fear of bees
2. Honey exfraction

3. Bee keeping

4. Safety from bees
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357493508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
a. Honey collectors cheated the residents of the colony.
h. Safety of the colony residents was completely
ensured.
c. Hailing the honey collectors by the residents was
misplaced.

(a) is right and (b) is wrong .
(b) is right and (a) is wrong .
(b) is right and (c) is wrong .
4. (c) isright and (a) is wrong .

e B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357493509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the forest. the honey collectors

help pollinate the flowers.

carry flaming torches to distract the bees.
don’t have to climb the trees.

collect more honey.

fpd B

b

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357493510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

{a) The trees are treated as a menace in the cities.

(b)yMan derives a double benefit from the bees.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

b d =

4. Both (a) and (b) are wrong
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357493511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



*Only able to destroy a few hives’ the word opposite in
meaning to ‘destroy’ is :

Enjoy
Enlarge
Build
Occupy

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357493512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

And ‘smouldering torches’ the word ‘smouldering” here

means

glowing
burning
bright
shining

w1

B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357493513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This sustainable harvest ensured that the bees were not
destroyed.
The underlined clause is :
1. Principal
2. Noun
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357493514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘those that looked full” the underlined word is a/an :
1. Adjective
Adverb
. Pronoun
Preposition

Wl

&

Options :
1.1
2.2
3.3
4.4



Question Id : 953357493505 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/ complete the
statements that follow with the help of given options.

Our giant water tower was home fo some big and menacing honey free colonies.
We made all efforts to get rid of them for the safety of the human residents of
the colony.

Honey collectors were invited but were only able to destroy a few hives.
Actually they never wished to get rid of all the honey trees honey was their
livelihood. Whenever we saw the honey collectors in their loin- dhoti, jute
ropes, leaf baskets and flaming torches, the children would run home for fear of
the bees and hail the honey collectors for their bravery from our balconies. For
me as a kid bees did not belong to the urban environment.

Decades later, a thousand kilometres from the water tank, I accompanied honey
collectors deep into the forest to study their harvesting technique. They carned
battery lights_ ropes and bee suits. Climbing up the trees, protected by the bee
suit, the collectors sef to the task — they extracted the honev chamber leaving the
hive infact. A few days before the extraction, they had inspected the hives to
select those that looked full or healthy — ensunng that honey extraction does not
damage the hives. This sust@ainable harvest ensured that the bees were not
destroved and the collectors retained their livelihood. For the biologist the bees
belonged to the wilderness.

In between the water tower and the forest lie our gardens and fruit orchards.
Here both humans and bees meet more intimately. Here our relationship with
bees is give and take. They pollinate our flowers and help our fruit trees to get
laden with fruit.

Sub questions

: Yes Group Comprehension

Question Number : 91 Question Id : 953357493506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
1. Biologist

2. Photographer
3. Honey collector
4. Bee keeper
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357493507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The topic discussed herein is :
1. Fear of bees
2. Honey exfraction

3. Bee keeping

4. Safety from bees
Options :
1.1
2.2
3.3

4.4



Question Number : 93 Question Id : 953357493508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :
a. Honey collectors cheated the residents of the colony.
b. Safety of the colony residents was completely
ensured.
c. Hailing the honey collectors by the residents was
misplaced.

(a) is right and (b) is wrong .
(b) is right and (a) is wrong .
(b) is right and (c) is wrong .
4. (c) isright and (a) is wrong .

N =

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357493509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the forest, the honey collectors

help pollinate the flowers.

carry flaming torches to distract the bees.
don’t have to climb the trees.

collect more honey.

M e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357493510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

(a) The trees are treated as a menace in the cities.

(b)Man derives a double benefit from the bees.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

L b

4. Both (a) and (b) are wrong
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357493511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



*Only able to destroy a few hives’ the word opposite in
meaning to ‘destroy’ is :

Enjoy
Enlarge
Build
Occupy

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357493512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

And ‘smouldering torches’ the word ‘smouldering” here

means

glowing
burning
bright
shining

w1

B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357493513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This sustainable harvest ensured that the bees were not
destroyed.
The underlined clause is :
1. Principal
2. Noun
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357493514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘those that looked full” the underlined word is a/an :
1. Adjective
Adverb
. Pronoun
Preposition

Wl

&

Options :
1.1
2.2
3.3
4.4



Sub-Section Number : 2
Sub-Section Id : 95335728120
Question Shuffling Allowed : Yes

Question Id : 953357493515 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the stanza given below and answer the questions/ complete the
statements that follow with the help of given options.

Fail I alone , in words and deeds ?

Why, all men strive and who succeeds ?
We rode, it seemed my spirit flew,

Saw other regions, cities new,

As the world rushed by on either side.

I thought — All labour. vet no less

Bear up beneath their unsuccess.

Look at the end of work , contrast

The petty done, the undone vast,

This present of theirs with the hopeful past !
I hoped she would love me, here we ride.

Sub questions

Question Number : 100 Question Id : 953357493516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poet here is talking like a/an
1. optimist
2. pessimist
3. realist

indifferent person

b

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357493517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In lines 3-5 the lover is
1. worried about his “unsuccess’.
2. trving to forget his loss in love.
3. enjoving his present.
4. confused by the scene around.

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 953357493518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
(a) All those who are hopeful achieve success at the end.
(b)Everyone makes an attempt but very few succeed.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

S

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357493519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The poet fell in love and succeeded.
His beloved did not like his looks.
The poet did not propose properly.

. She had a soft heart.

Options :

1.1

2.2

3.3

4.4

W

.

Question Number : 104 Question Id : 953357493520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘It seemed my spirit flew.” The figure of speech used in the
expression is :

Simile
Imagery
Metaphor
4. Hyperbole

b=

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357493521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

*As the world rushed by on either side’ the figure of speech
used in the expression is :

Simile
Metaphor
Personification
Hyperbole

W

g

Options :
1.1
2.2



3.3
4.4

Question Id : 953357493515 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the stanza given below and answer the questions/ complete the
statements that follow with the help of given options.

Fail I alone , in words and deeds ?

Why. all men strive and who succeeds ?
We rode, it seemed my spirit flew,

Saw other regions, cities new,

As the world rushed by on either side.

I thought — All labour, vet no less

Bear up beneath their unsuccess.

Look at the end of work , confrast

The petty done, the undone vast,

This present of theirs with the hopeful past !
I hoped she would love me, here we ride.

Sub questions

Question Number : 100 Question Id : 953357493516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poet here is talking like a/an
1. optimist
2. pessimist
3. realist

indifferent person

b

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357493517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In lines 3-5 the lover is

worried about his “unsuccess’.

2. trying to forget his loss in love.

3. enjoving his present.

4. confused by the scene around.

—

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357493518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
(a) All those who are hopeful achieve success at the end.
(b)Everyone makes an attempt but very few succeed.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

S

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357493519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The poet fell in love and succeeded.
His beloved did not like his looks.
The poet did not propose properly.

. She had a soft heart.

Options :

1.1

2.2

3.3

4.4

W

.

Question Number : 104 Question Id : 953357493520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘It seemed my spirit flew.” The figure of speech used in the
expression is :

Simile
Imagery
Metaphor
4. Hyperbole

b=

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357493521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

*As the world rushed by on either side’ the figure of speech
used in the expression is :

Simile
Metaphor
Personification
Hyperbole

W

g

Options :
1.1
2.2



3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335728121
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357493522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘mother tongue based multilingualism™?
1. Learners begin their schooling in their mother tongue and move on to add at least two more languages.

2. Learners learn their mother tongue, state language, Hindi and Sanskrit.

3. Learners begin their schooling in their state language and add English, Hindi and a foreign language.
4. Learners begin their schooling in English medium and add the state language, Hindi and English
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357493522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘mother tongue based multilingualism®?
1. Learners begin their schooling in their mother tongue and move on to add at least two more languages.

2. Learners learn their mother tongue, state language, Hindi and Sanskrit.

3. Learners begin their schooling in their state language and add English, Hindi and a foreign language.
4. Learners begin their schooling in English medium and add the state language, Hindi and English
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357493523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is this activity known as?
Students are divided into groups of four and each one is assigned a character in a family situation and supplied
with some language chunks. They converse for the situation in their groups and the teacher later picks up each
character from some group and asks them to converse as a group to the whole class.
L. Dramatics
2. Speaking activity

3. Role play
4. Language generating activity
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357493523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is this activity known as?
Students are divided into groups of four and each one is assigned a character in a family situation and supplied
with some language chunks. They converse for the situation in their groups and the teacher later picks up each
character from some group and asks them to converse as a group to the whole class.
1. Dramatics

2. Speaking activity

3. Role play
4. Language generating activity
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357493524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Input rich environment’ refers to....

making the language seen. noticed and used by learners.

2. input in the training given to learners.
3. making the language teacher to use the language in the classroom.
4, textbooks and other materials

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 953357493524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Input rich environment’ refers to....
1. making the language seen, noticed and used by learners.
2. input in the training given to learners.
3. making the language teacher to use the language in the classroom.

textbooks and other materials

i

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357493525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are essential for learners in a classroom to start using language for different purposes?
. Language inputs and interaction

2. Grammar teaching.

[¥5]

Vocabulary

=

Narratives and poetry

Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357493525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are essential for learners in a classroom to start using language for different purposes?
1. Language inputs and interaction
2. Grammar teaching.

3. Vocabulary
4. Narratives and poetry
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357493526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

Group work
2. Scaffolding
3. Whole classroom discussion in groups.
4. Communicative language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357493526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

Group work
2. Scaffolding
3. Whole classroom discussion in groups.
4. Communicative language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357493527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Infering meaning” is

L. to deduce meaning based on evidence and reasoning.

(]

to understand what is being implied and understood.

3. to find out the meanings of words.
4. to write a summary of the text.
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357493527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Infering meaning” is

L. to deduce meaning based on evidence and reasoning.

2. to understand what is being implied and understood.
3. to find out the meanings of words.
4. to write a summary of the text.

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 953357493528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Semantic cue’ in reading is

1. the meaning of a word.

1

the prompt for identifying the grammatical item.

3. the prompt that supports the meaning-making process.
4. the prompt for the correct pronunciation of the word.
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357493528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Semantic cue’ in reading is

1. the meaning of a word.

t

the prompt for identifying the grammatical item.

L8]

the prompt that supports the meaning-making process.

=

the prompt for the correct pronunciation of the word.

Options :
1.1



2.2
3.3
4.4

Question Number : 113 Question Id : 953357493529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Here is a conversation between two persons. Read it carefully and find out the purpose of the interaction.
Person 1: Hello! How are you? Glad that vou have come back. .
Person 2: Hello! How are vou? I am doing well. What about yvou?
Person 1: Iam fine. How is vour health now?
Person 2: Improving. I am able to work now.

—

Personal communication

]

Informative purpose
3. Transactional purpose

i

Interactional purpose
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 953357493529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Here is a conversation between two persons. Read it carefully and find out the purpose of the interaction.
Person 1: Hello! How are you? Glad that you have come back. .
Person 2: Hello! How are vou? I am doing well. What about you?
Person 1: Tam fine. How is your health now?

Person 2: Improving. I am able to work now.

Personal communication

—

)

Informative purpose
3. Transactional purpose

i

Interactional purpose
Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 953357493530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are ‘Form oriented language inputs’ for language learning?

Inputs which focus on information.

b

Learners receive vocabulary, prominciation and grammar.

| F¥]

Learning to use language for meaning conveyed in the inputs.

P

Potential of the input for learning writing.

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357493530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are ‘Form oriented language inputs’ for language learning?

Inputs which focus on information.

2. Learners receive vocabulary, prominciation and grammar.
3. Learning to use language for meaning conveved in the inputs.
4. Potential of the input for learning writing.

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 953357493531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The new structure of school education in the National Education Policy 2020 recommends

l. 5 vears primary + 3 years upper primary +2 years secondary +2 years senior secondary

I

2 years pre primary + 5 years primary + 3 years upper primary + 4 years secondary

3. 5 years Foundational +3 vears primary +3 vears middle + 4 vears secondary
4. | year pre primary + 5 years primary + 3 years middle + 2 years secondary + 2 years senior secondary.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357493531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The new structure of school education in the National Education Policy 2020 recommends
5 years primary + 3 years upper primary +2 years secondary +2 years senior secondary

2 years pre primary + 5 years primary + 3 years upper primary + 4 years secondary

t

3. 5 vears Foundational +3 vears primary +3 years middle + 4 vears secondary
4. 1 year pre primary + 5 years primary + 3 years middle + 2 years secondary + 2 years senior secondary.
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357493532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Language curriculum aims *To develop control over different registers’. What does this mean?

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357493532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Bow

Learners comprehend and use language suitable to the content of different subjects.
Learners understand texts in science and social sciences.
Learners use language for day-to-day communicative purposes and functions.

Learning the language registers in different languages.

Correct Marks : 1 Wrong Marks : 0
Language curriculum aims *To develop control over different registers’. What does this mean?

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357493533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

b2

i DA

Learners comprehend and use language suitable to the content of different subjects.
Learners understand texts in science and social sciences.
Learners use language for day-to-day communicative purposes and functions.

Learning the language registers in different languages.

Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT advocated as a goal of developing reading among learners?

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357493533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

L.

-

oW

Drawing inferences while reading a text.
Relating the text with one’s previous knowledge.
Mere decoding of the text.

Make meaning of words, language chunks.

Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT advocated as a goal of developing reading among learners?

Options :
1.1
2.2
3.3
4.4

L.

-~

oW

Drawing inferences while reading a text.
Relating the text with one’s previous knowledge.
Mere decoding of the text.

Make meaning of words, language chunks.

No

No



Question Number : 118 Question Id : 953357493534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which two of the following are bottom-up strategies in listening skills?
a. Recognize word and clause divisions.
b. Use key words to construct schema of the discourse.

Infer the setting for a text.

=

Retain input while it is being processed.

1. ¢ and d are bottom-up strategies

b3

a and d are bottom-up strategies

L#¥]

b and ¢ are bottom-up strategies.

4. aand b are bottom-up strategies
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357493534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which two of the following are bottom-up strategies in listening skills?
a. Recognize word and clause divisions.
b. Use key words to construct schema of the discourse.

c. Infer the setting for a text.

P

Retain input while it is being processed.

1. ¢ and d are bottom-up strategies

2. aand d are bottom-up strategies
3. band c are bottom-up strategies.
4. aand b are bottom-up strategies

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 953357493535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meena is able to recognize the word "envisage’ in a text or when it is spoken, but is not able to use it on her own. What

would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4, New word
Options :
1.1



2.2
3.3
4.4

Question Number : 119 Question Id : 953357493535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Meena is able to recognize the word “envisage’ in a text or when it is spoken, but is not able to use it on her own. What

would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4. New word
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357493536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of grammar learning?

1. Learning to use the grammar item in real life purposes.

12

Discovering the form through use in contexts.

3. Learning the rules of Grammar by mastering the rules of the language.
4. Using the form in contexts.

Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 953357493536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of grammar learning?

Learning to use the grammar item in real life purposes.

12

Discovering the form through use in contexts.

3. Learning the rules of Grammar by mastering the rules of the language.
4. Using the form in contexts.
Options :
1.1
2.2
3.3
4.4
Language 11
Section Id : 95335715376
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335728122
Question Shuffling Allowed : Yes

Question Id : 953357493537 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357493538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T g
1. ST

FHET
3. femepem

4. T&IheTl
Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 122 Question Id : 953357493539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o TR H T w0 H fohe Fersenrt i A o
0

[am—

.'Er‘?-:‘IDEﬁT
. B8

3. HeATFRT
4. IEAT

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 123 Question Id : 953357493540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ST T AT & S —
1. TS
2. faferean

~

3. |ret
4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357493541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T A AR & A AT AT W & HTeIH § 5O
AT 9T —

1. f==

4

3. 9ha

4. =@+
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357493542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR ST FE W T F o = oy 80
I, J=-TEE
2. T T S ST
3. W T

4. T



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357493543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AT IS T R
1. g

. IeTET

3. H

4. =T

(]

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357493544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T E e AR e
1. f==7 + 3=
2. AT+ FE
3. o+ o
4. e+
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 953357493545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR Tt 7 e geT -
. F s H A T
| ITTTESTET S & SR U
. STTFET % TR T
4. ST OO 3 ST O
Options :
1.1
2.2

3.3
4.4
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Question Id : 953357493537 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357493538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 5= 2

1. wT§T
e
3. Toee

4. TRl
Options :
1.1
2.2
3.3
4.4

(]

Question Number : 122 Question Id : 953357493539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T H e w0 W o e s forar
20

[a—

.trsga#
. B

3. FHoHEE
4, FRAT

Options :
1.1
2.2
3.3

]



4.4

Question Number : 123 Question Id : 953357493540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AREAT T 1 AT & ST —
1. TSI
2. Tafstear

)

3. | et
4. TR

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357493541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG AT TE A AT A9 A o OTeT ¥ 59

TRIAT AT —

1. f==

3

3. Hehd

4. @4
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357493542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR T F6 F T2 F (70 7 Fg 27

b T

2. W T 2T I

3. WM T

4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357493543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T HET IS TR R -
1. =i

2

. 3eTEt

]

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357493544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e R E- AT 2
1. =37 + s
2. T+
3. o+ o
4. TR + 9
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 953357493545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR T 7 e gerT -
T FEITE T
| ATESTET TS F IR W
. STTFET % TR T
4. T 9T F ATIR T
Options :
1.1
2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335728123
Question Shuffling Allowed : Yes
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Question Id : 953357493546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 953357493547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST ST FAT 2
1. gt

-

. TR
3. 59
3
4. TF~al
Options :
1.1
2.2

3.3
4.4

]

Question Number : 130 Question Id : 953357493548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R ST S g Afre w2
|. 299 AT AT
2. g:@wﬁaﬁaﬁﬁ
3. == S arett

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 953357493549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T I T I el 741 2, TR —
1. == TITOTT ST 7T AT 2
2. E I AR T 1 AR 1 ATS THAT 2
. TE T T @A R
4. FEATTFFAFITTE
Options :
1.1
2.2

3.3
4.4
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Question Number : 132 Question Id : 953357493550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3. 3t AT
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Options :
1.1
2.2
3.3
4.4
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Question Number : 133 Question Id : 953357493551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=7 S T T 2 AT B
1. 27 3 e faet
2. FET A AT T TS
3. 9T SR EE T 9Tet
4. 2FT ¥ ST FH T IET
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 953357493552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YT T AT AN &
1. FHIRT

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357493553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T8 T T B SO ST iRy Teg & -
1. oo
2. Ternfasmo
3. Fm
4. eSS

Options :
1.1
2.2
3.3
4.4

Question Id : 953357493546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 953357493547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST ST FAT 2
1. &=t
. I
3. 59
b=]
4, TH=Al
Options :
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1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357493548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R ST S g Afre w2
1. 299 3T AT
2, g:@mﬁaﬁaﬁ?ﬁr
3. EfUam I3 g

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 953357493549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
HATE T T I el T T, FE
1. = Tt ST T e 2
2. TE i S g T Eani w5 AT e
. T T AT 2
4 TEAEFEF I
Options :
1.1
2.2

3.3
4.4
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Question Number : 132 Question Id : 953357493550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357493551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357493552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357493553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335728124
Question Shuffling Allowed : Yes

I~

Question Number : 136 Question Id : 953357493554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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_ FETH R R
1. BT E F AT E E
. ST aTETeT BT H
. AT U1 o &7 6 ¥ 5
4, BT [gFEH ATFHFECH

Options :
1.1
2.2
3.3
4.4

| ]

L8]

Question Number : 136 Question Id : 953357493554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e famer Hifer 2020 # Tl werett Sw - it ST, on, S, S, Wi, gt o w6 oo
_ FEUHSEETHITE R
1. PraTeT e F ST E wT A
. TSI WTTeT H ET
. ST TSFEET F T F o
4, IO AFEF ITFEIH

Options :
1.1
2.2
3.3
4.4

| ]

LS ]

Question Number : 137 Question Id : 953357493555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2T o e TRTeTeff T ST % w9 5 AT AT ¢ A1 UF A H T SqAed] WIS 3 S a1
U BTt % 3T 39 919 S Ued 91T 21 TR 2 9F TR B O S S 22

1. WTST SAeRT
2. TS 375
3. WTST T ST

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 953357493555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT 5 U ToTeefT qeTE WIS % T F AerTes H 9] 89U U a6 H BT § SUed HIST F S aul
T BT 3 5T S S 37 IR I B R B 9 e = S Srar 82
1. WTeT STy

D, WTST 37
3. HET=l 3\;:’_'-'-”
4. sﬁqmwwaﬁﬁusf&mm
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357493556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frferfes & 9 #7 9 31 Hige 1 I69 99 % SFET 9 87
a. it o  &m ¥
b. Ffeat st stferms & awem wrer 2
C. e T T & G &1 =2y

et vt 25 fem, g =A< e

badTc

addrb

addrd

4, cT4grd
Options :
1.1
2.2
3.3
4.4

D= a

LS

Question Number : 138 Question Id : 953357493556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Freferfgs & & 19 9 a1 HigH 1 IEH GO % SE 9 87
a. Ffeat dig ¥ &7 F
b. feat wraT StferT & awen wrer 7
C. = 1 T & G &7 A1)

Tt fevegept 3 ferw qmuTSOr ohT T e

badlc

addar b

ad4rd

4, cT4grd
Options :
1.1
2.2

Lol o 1

LY ]



3.3
4.4

Question Number : 139 Question Id : 953357493557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

O HET  FAEEHE TR FEGH T A
1. T R o o, STt fea v s e
3. AT 3 HEHT 1 FEAT 4T A1 [ FAT
4. AT TEF T AT Y (T TR 5, F

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357493557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST WG J FECF FHA P F T F AT 0T
1. T EiE % T evot gt s e
3. ST % T o1 HIGT 74T 18 F Jeedrad Fe
4, ST U § AT T T TR A 8,

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357493558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T FET

. Ta=rone= T
. TaeamuTens oEe
Options :

1.1

2.2

3.3
4.4

—

(]

Question Number : 140 Question Id : 953357493558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e T FEH] T
|. T =T
. TaeImuTens oEe
3. FUNHTETF =&
Options :
1.1
2.2

3.3
4.4

]

Question Number : 141 Question Id : 953357493559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST TTZTE] %1 T F TEHITRAT U T o €9 F 2
B %ﬂﬁaﬁﬁwaﬂmwamm%ﬁmmﬁvmm
. ST WTWTSAT 7 TS0 AT TST AT, e WRAig \TaT, I WTST, a2 et wrer st
z
3. TSt v =1 3T e = e etfi
4. TST FYT AT ST F T T ATGHTH HGA

Options :
1.1
2.2
3.3
4.4

[

Question Number : 141 Question Id : 953357493559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST TTZTE] %1 T J TEHITRAT U 0T 3 €9 F 2
B %ﬂﬁaﬁﬁwaﬂmwmwmﬁwmﬁvmm
. T WTSTRAT 3T (a0 STTenTe T ATqTeT, STTefee S re T, SR | qey faew S atetew
z
3. TSt Sva =1 3T WTeTet o fereEr- st
4. TST FYT AT ST F T T ATGHTH HGA

Options :
1.1
2.2
3.3
4.4

[

Question Number : 142 Question Id : 953357493560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Treeff =1 % ¥ USTA ¥ [SRA §| @A % §9 SUNH F [ B H ST AT 27
1. 3918 3a0H
2. TfeRaT U

-

3. ST Yo

3
4. AT oG
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357493560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTeaeff #E  ¥Te USTAT ¥ [SRA ©| T % §9 SUNH F e B0 H ST AT 27
1. 3918 3ATTH
2. iRt ST

-

3. STT=IR 4Aerd

w3
4. ST TG
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357493561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TTTEERT AU FHeT F AR F T H Aiedl 2| T8 oA WHE Fl Sua/Feen a6l & 9 W I de "ee
T e Frur o ek W et 3 W TR e
T T T T w5
I. TR wE
3. WETEE
4. gfEsATFE
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 143 Question Id : 953357493561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T TR AT FHeT Fl ANAR F T H Siedl 2| T8 TeAT T Hl G9a/3ee ol g 5 W I de "EH
T T Fraie S eeh W et 3 W SR e 2
TH HTHfEe AT 1 37 ad 22
|. EwE
3. HETFE
4. g
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 144 Question Id : 953357493562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fr=ferftas g F vor w1 g =0 5 ST AT 8

T ST (5 Tah a1 5 o710 U T 2| o7 o 937 | 21t wiaanet i et 5 fafan)
|. T =
2. AfEaeH =@
3. ATFEHFUTF TE

4. TERTEH S
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357493562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

r=ferftas va F vor w1 o =0 3 ST AT

T TS (5 Ua FEHT 7 A U T 2| o7 o <37 | 21t saeneAt # et 7 fata)
1. TarawoeTs wEA
2. WiEasH =T
3. FTTHFATHF @

4. TERTEH SET
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357493563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e % fememor-etfenms =1 9T Seva 7 -
1. TTHE TUT BEAT FAT
2. ST =@ 1 FeAT HET
3. WTST ST
4. SITFAUT TUT TTeeTaeAT HigAT

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357493563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e 3 famamor-e1ferms =1 g7 eva 7 -
1. STHE TUT FEEAT FAT
2. SIS ST T FeAT g
3. W S
4. SHTEROT AT TTEaTIeAT |IEHT

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357493564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F e I e @ enfa R S A v S e v R w FE TR R
|. 79T =5 =UT 1 ST
2. TS T IEAT 3 AL T AT
3. WTST % WY FEAAT

4. 9T = ST
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357493564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTST T T 3 T ¥ e e B I AT S T ST S WY T F T E
|. 79T o =T 1 ST
2. THT ST IEAT oF AT AR AT
3. WT9T % WY HeAHAT

4. WTSTH AT
Options :
1.1
2.2




3.3
4.4

Question Number : 147 Question Id : 953357493565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T “STHTTOTR W3- A E —

|. UTEE-TE % S@F 3N [T TS UG- A T e
2. e H I TE 7 urgg- A

3. HifeTen TRES § UTS: TR J ST 78 TEF-a
4. Tareneff 317 vEw F %F w0 H fordt 78 wEET @A =
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357493565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS “SITHTTOTR WA € —

. UT3E-T5% % S@ G [T TS UG- A T e
2. e § I T3 9 ureg- |t

3. THTeTSh TIEE ¥ qUTE: TUE & ST T g d-a
4. Tarsanef g vew 4 % w0 H fordt 8 wEET o =
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357493566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST ST SR HSuTeea Hiere (BICS) Hafem 2 —
1. T TSI T WA % o T a7 31 STavarehal el ©
. =T ZT SN 3 ToTT WISt i ofavaskar 2t
. UTET EHNOT 3 Torw et it SAEvashar vt
4. HOUTTeReR T f3eqor
Options :
1.1
2.2

3.3
4.4

(=)

L

Question Number : 148 Question Id : 953357493566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT S A ehah HISUTeHa: Hieret (BICS) Fafem & —
. TR TerT ot W ot 36 oA, e o AT B &
. T T SWON0T 3 o7 Wi S AT 2t 2
3. UET HINOT 3 T WTST St AT B B
4. HUSOTTESS STST f3reqor
Options :
1.1
2.2

3.3
4.4

[a—

B

Question Number : 149 Question Id : 953357493567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST HETT & —
1. Terenfen Frsuafea F o= g

. FT Y et Fr A w A A o
3. I FEYUT YT AT AR 1 AT
4. TarsanefT 7 Wt TS0 T HOS

Options :

1.1

2.2

3.3
4.4

(=]

Question Number : 149 Question Id : 953357493567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT-3TToheT ST & —
1. Torefeat i su=fer F o= &
. e o Tareqriedat i At U EA
3. I WU LA AT AR F1 G
4. Tameaneff St syram w=ftoraT w0 qOw

Options :
1.1
2.2
3.3
4.4

[

Question Number : 150 Question Id : 953357493568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YT W F EtA oy e ;e

o TS ST ST T W e B

. STERTIT, FEERT, ST SATE]

. Tt A g et @
4. WS TS S AT W S 2

Options :

1.1

|

Lad



2.2
3.3
4.4

Question Number : 150 Question Id : 953357493568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QTS FTHIT o FE T W77 5 | e

I e S T T W =

. STeRTIE, TSN, ST TS

T e ST RSt T TR
4. ST T S AT W S e

Options :

1.1

2.2

3.3
4.4

| R I

Ll



